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SESSION 1 - BAS & TAX CODES UPDATE
QUESTION

CASE STUDY 1

Remote Area AMS purchased a Toyota Landcruiser for patient transport between remote communities and the local hospital 200kms away.  Remote Area AMS paid $63,810 for the Landcruiser in 2005.

Costs relating to the vehicle purchase (including GST) and other on road costs:

Landcruiser


$54,000

Delivery fee


 $ 2,000

4WD Accessories 

 $ 4,000
Registration fee 
 
    $ 700

Compulsory 3rd party
 $ 1,110

Stamp duty 
  

 $ 2,000
Total 


          $ 63,810
In 2007, Remote Area AMS decided to trade in the old Landcruiser and purchase a new Landcruiser from ABC Toyota (a vehicle dealership).
Questions:

1. If Remote Area AMS and ABC Toyota agree on a trade-in price for the old Landcruiser of $44,000 will the sale be subject to GST? If so how much GST will Remote Area AMS have to pay to the ATO?

2. If Remote Area AMS and ABC Toyota agree on a trade-in price for the old Landcruiser of $48,400 will the sale be subject to GST? If so how much GST will Remote Area AMS have to pay to the ATO?

SOLUTION

CASE STUDY 1

Purchase price of Landcruiser:-

Cost Price


$54,000


Delivery Fee

  
  $2,000


4WD Accessories
  
  $4,000

Total Purchase Price
$60,000
Therefore 75% of $60,000 = $45,000

1. If agreed trade in price is $44,000 this is < $45,000 therefore the trade in price is GST-FREE and Nil GST is payable to the ATO.

2. If the agreed trade in price is $48,400 this is > $45,000 therefore the trade in is subject to GST.  GST required to be remitted to the ATO is

$48,400 divided by 11 = $4,400

QUESTION

CASE STUDY 2 – ADJUSTMENTS

XYZ AMS is an Aboriginal Medical Service located in NSW. They have already lodged the BAS return for the quarter ended 31 March 2007.  Some circumstances have arisen which potentially give rise to the need to make adjustments in the June 2007 BAS.  You are the Accountant and are required to use the Adjustments Worksheet method to determine what adjustments are required.  All amounts quoted below are GST inclusive.  Use the blank worksheets located on pages 14 to 18 of the ATO fact sheet and calculate the net adjustment needed on your Activity Statement.

1. XYZ AMS invoiced the local sporting association for $550 in the previous BAS period, being for venue hire for a football function.  The function was cancelled and a full refund was provided and the invoice cancelled.

2. XYZ AMS returned a stationery order which was incorrect.  The stationery cost $1,100 which was claimed in the previous BAS period.

3. XYZ AMS receive an amended replacement invoice from a consultant for $8,800. The original invoice was for $2,200 and was claimed in the previous BAS period.

4. XYZ AMS had invoiced the ABC AMS for $3,300 recorded in the previous BAS period.  The $3,300 was for the preparation of a Policies & Procedures Manual.  ABC AMS is now unable to pay this account and XYZ AMS has decided to write off 100% of this account as a Bad Debt.

5. XYZ AMS have owed ABC Medical Supplies $770 for over 14 months and have just been advised that ABC Medical Supplies have written this account off their books and no longer require XYZ AMS to pay this debt.

SOLUTION

CASE STUDY 2

Sales Worksheet

	(1)

Adjustment for Sales
	(2)

Amount for Sales
	(3)

New Amount for Sales
	(4)

Increasing Adjustment
	(5)

Decreasing Adjustment

	Cancellation of a Sale
	$550
	0
	0
	$550

	Total
	
	
	
	$550


Purchases Worksheet

	(1)

Adjustment for Purchases
	(2)

Purchase Price
	(3)

Changed Purchase Price
	(4)

Increasing Adjustment
	(5)

Decreasing Adjustment

	Cancellation of a Purchase
	$1,100
	0
	$1,100
	0

	Increase in Purchase Price
	$2,200
	$8,800
	0
	$6,600

	Total
	
	
	$1,100
	$6,600


Bad Debts Worksheet

	(1)
	(2)
	(3)

Amount Written off or Recovered
	(4)

Increasing Adjustment
	(5)

Decreasing Adjustment

	Sales
	Writing off bad debts overdue for 12 months or more
	$3,300
	0
	$3,300

	Purchases
	Bad Debts written off by your supplier or debts over due for 12 months or more
	$770
	$770
	0

	Total
	
	
	$770
	$3,300


Adjustments Summary Worksheet

	Line
	Reason for Adjustment
	Increasing Adjustment
	Decreasing Adjustment

	1
	Adjustment for sales following adjustment events
	
	$550

	2
	Adjustments for purchases following adjustment events
	$1,100
	$6,600

	3
	Bad debts written off or recovered
	$770
	$3,300

	11
	Total
	A  $1,870
	B  $10,450

	
	If A is more than B, subtract B from A and show the amount at G7
	
	

	
	If B is more than A, subtract A from B and show the amount at G18
	
	$8,580


QUESTION

CASE STUDY 3

Remote Area AMS has an annual turnover of $7,000,000 and has prepared all records for the March 2007 BAS statement.  The accountant operates MYOB and has printed out the detailed GST report for accrual accounting for the period 1 January 2007 to 31 March 2007 and the payroll activity summary for the month of March 2007.

The Accountant notices that the GST paid account in the general ledger does not reconcile to the detailed GST report.  It appears that an invoice dated 31st December 2006 for $3,300 (inclusive of GST) for a non-capital purchase has been entered into the December 2006 period after the December 2006 quarter BAS statement had been prepared and lodged and the month of December had been closed off.

The Accountant had also prepared an Adjustments Summary Worksheet for this period and has a Net Decreasing Adjustment of $6,000 to include in the 31 March 2007 BAS statement.

Armed with this information and the GST & PAYG reports prepare the 31 March 2007 BAS statement using the GST Calculation Worksheet. Ensure that you correct any mistakes from previous BAS periods and make any adjustments required.
SOLUTION

CASE STUDY 3

GST Calculation Worksheet for BAS

	G1
	$979,550

	G2
	-

	G3
	$165,000

	G4
	-

	G5
	$165,000

	G6
	$814,550

	G7
	-

	G8
	$814,550

	G9
	$74,050

	G10
	$11,000

	G11
	$43,900

	G12
	$54,900

	G13
	-

	G14
	$10,000

	G15
	-

	G16
	$10,000

	G17
	$44,900

	G18
	$6,000

	G19
	$50,900

	G20
	$4,627


BAS Statement – Quarterly GST, monthly PAYG

	G1
	$979,550

	G3
	$165,000

	G10
	$11,000

	G11
	$43,900

	W1
	$10,161

	W2
	$3,248

	W5
	$3,248

	1A
	$74,050

	1B
	$4,627

	4
	$3,248

	8A
	$77,298

	9 (8A minus 1B)
	$72,671


SESSION 5 – FBT & SALARY PACKAGING UPDATE
QUESTION

CASE STUDY – FRINGE BENEFITS TAX RETURN

XYZ AMS has three employees that have taken advantage of the salary packaging arrangements offered by their employer.  XYZ AMS has PBI status with the ATO and is located 20 kilometres north of Newcastle, NSW.  Armed with the information below you are required to:

1. Calculate the taxable values of all fringe benefits provided to each of the employees.

2. Determine the amount to be included as the “Reportable Payments” amount on the PAYG Payment Summaries of each employee.

3. You are also required to complete the Fringe Benefits Tax Return for the FBT year ended 31 March 2007.

Employee A

This employee salary sacrifices $16,050 of his salary for payments to his house mortgage.

Employee A also is provided with a motor vehicle (commodore sedan) for the entire period 1 April 2006 to 31 March 2007.

· The car’s base value is $30,000 (GST Inclusive)

· From the log book it is established that the car has travelled 35,000 kms.

· Operating costs (including GST) for that period (fuel, insurance, registration, repairs etc.) total $5,000.

· The depreciated value at 1 April 2006 is $20,000 so that depreciation at 18.75% to 31 March 2007 would be $3,750 (i.e. 18.75% x $20,000)

· The statutory interest rate is 7.30%, so that the interest component to 31 March 2007 would be $1,460 (i.e. 7.30% x $20,000)

· The percentage of Business use established by the use of a log book is 75%,

· The employee pays $1,000 directly to the employer as consideration for the provision of the car benefit.

Employee A also salary sacrifices a further $5,000 into a complying superannuation fund for retirement.

Employee B

This employee is employed at one of the out reach clinics of the service which for housing purposes has been classified as Remote Area, the employee is provided with a house to live in as her usual place of residence.  The rental market value of the house is $15,000 per annum and the 2006/07 FBT is the base year.  Employee B makes no contributions towards the rental costs.

Employee B also obtains an expense reimbursement from XYZ AMS for the following expenses during the FBT year:

· Telephone (100% private usage) - $5,000

· Credit card expenses - $7,000

Employee C

This employee salary sacrifices $16,050 of his salary for payments to his house mortgage.

Employee C also is provided with a motor vehicle (Toyota Landcruiser Wagon) for the entire period 1 April 2006 to 31 March 2007.

· The car’s base value is $50,000 (GST Inclusive)

· From the log book it is established that the car has travelled 14,000 kms.

· Operating costs (including GST) for that period (fuel, insurance, registration, repairs etc.) total $10,000.

· The depreciated value at 1 April 2006 is $35,000 so that depreciation at 18.75% to 31 March 2007 would be $6,562 (i.e. 18.75% x $35,000)

· The statutory interest rate is 7.30%, so that the interest component to 31 March 2007 would be $2,555 (i.e. 7.30% x $35,000)

· The percentage of Business use established by the use of a log book is 20%,

· The employee pays $2,000 directly to the employer as consideration for the provision of the car benefit.

Employee C also is provided with the following benefits:

· Mobile Phone (incidental private use) - $3,000

· Laptop Computer (incidental private use) - $3,500

· Employer pays the electricity account direct - $2,500

Remember:

· Look out for exempt fringe benefits.

· Calculate using the formula that provides the lowest taxable value.

· Be aware of concessional treatments.

· Take into account employee contributions.

· Exemption of $30,000 grossed up threshold for each employee of a PBI.

· Type 1 fringe benefits gross up rate is 2.0647 (benefits with GST input credits)

· Type 2 fringe benefits gross up rate is 1.8692 (benefits with no GST input credits).

SOLUTION

CASE STUDY – FRINGE BENEFITS TAX RETURN

EMPLOYEE – A

Mortgage Payments (type 2 benefit)
Expense Payment Benefit – Taxable Value = $16,050
Car Fringe Benefit (type 1 benefit)

Statutory Method

Taxable Value  =  ($30,000 x 0.11 x 365/365) - $1,000 = $2,300
Cost Basis (Operating Cost Method)

Taxable Value  =  [($5,000+$3,750+$1,460+$1,000) x (100% - 75%)] - $1,000



    = $1,802.50
Therefore use Cost Basis Method with the lowest taxable value of $1,802.50
Superannuation Benefit (exempt benefit)

$5,000 superannuation is an exempt benefit and is also Not Reportable on the employee’s PAYG Payment Summary.
Taxable Value = Nil
Total Taxable Value of Employee A = $17,852.50

Type 1 Benefits Grossed Up 
=   $3,721.62

Type 2 Benefits Grossed Up
= $30,000.66

Less: PBI Threshold
      
= ($30,000.00)
Total Taxable Fringe Benefits
=   $3,722.28
Employee A - Reportable Payments = (16,050 + 1,802.50) x 1.8692 = $33,369.89

EMPLOYEE – B

Remote Area Housing Benefit (Exempt benefit)

Factors to be considered are that it is the usual place of residence and located remote area.
Taxable Value = Nil
Expense Payment Benefits (type 1 Benefit)

Taxable Value = $5,000 + $7,000 = $12,000
Total Taxable Value of Employee B = $12,000

Type 1 Benefits Grossed Up 
= $24,776.40

Less: PBI Threshold
      
= ($30,000.00)
Total Taxable Fringe Benefits
= Nil
Therefore No FBT Liability for Employee B.

Employee B - Reportable Payments = $12,000 x 1.8692 = $22,430.40

EMPLOYEE – C

Mortgage Payments (type 2 benefit)

Expense Payment Benefit – Taxable Value = $16,050
Car Fringe Benefit (type 1 benefit)

Statutory Method

Taxable Value  =  ($50,000 x 0.26 x 365/365) - $2,000 = $11,000
Cost Basis (Operating Cost Method)

Taxable Value  =  [($10,000+$6,562+$2,555+$2,000) x (100% - 20%)] - $2,000



    = $14,893.60
Therefore use Statutory Method with the lowest taxable value of $11,000.00

Exempt Fringe Benefits

Mobile Phone
$3,000
Laptop Computer
$3,500
Total Exempt

$6,500
Expense Payment Fringe Benefits (type 1 benefit)

Electricity Account

$2,500

Total Taxable Value of Employee C = $29,550.00

Type 1 Benefits Grossed Up 
= $27,873.45
Type 2 Benefits Grossed Up
= $30,000.66

Less: PBI Threshold
      
= ($30,000.00)
Total Taxable Fringe Benefits
= $27,874.11
Employee C - Reportable Payments = (16,050 + 11,000 + 2,500) x 1.8692 = $55,234.86
FRINGE BENEFITS TAX RETURN

	Type of benefits provided
	Number
	Gross Taxable Value

(a)
	Employee Contribution

(b)
	Value of Reductions

(c)
	Taxable Value of Benefits

(a)-(b)-(c)

	Cars using Statutory Formula
	1
	$13,000
	$2,000
	
	$11,000

	Cars using the operating cost method
	1
	$2,802
	$1,000
	
	$1,802

	Expense Payments
	
	$46,600
	
	
	$46,600


Item 13 – C



$31,596

Item 14



$31,596

Item 15 = (Item 14 x 46.5%)
$14,692.14

Item 18



$14,692.14

Item 20



$14,692.14

SESSION 6 – PAYROLL UPDATE
QUESTION & SOLUTION
ACTIVITY 1 – PAYG WITHHOLDING

Please calculate the amount of PAYG withholding tax to withhold in the following circumstances (assume all amounts are weekly payments).  Use the weekly tax table provided to help you with your answers.

	AMOUNT PAID
	AMOUNT TO WITHHOLD

	$956.20 and the employee has provided a TFN and has elected the tax free threshold.
	Tax Free Threshold no leave loading

= $213

	$1,301.40 and the employee has not provided a tax file number within 28 days and is a resident of Australia.
	No TFN – therefore 46.5%

= $605.15

	$617.50 and the employee has ticked “No Tax Free Threshold” from this employer.
	No Tax Free Threshold

= $170

	$2,600 and the employee has provided a TFN and has elected the tax free threshold (with leave loading).
	= $848.50


ACTIVITY 2 – ALLOWANCES

Please state whether PAYG should be withheld in the following circumstances:
	ALLOWANCES
	PAYG TO BE DEDUCTED (YES/NO)
	SHOW ON PAYMENT SUMMARY (YES/NO)

	Allowance received for part day travel (no overnight absence).
	YES
	YES – Gross Salaries & Wages Box

	An employee is reimbursed based on the ATO cents per kilometre rates and claims less than 5,000 kilometres.
	NO
	YES – Allowances Box

	An employee receives a laundry allowance of $300.
	YES (only the $150 excess)
	YES – Allowances Box (only $150 excess)

	An employee travels to Perth for work for five days and is paid an allowance of $1,000.  Her annual salary is $50,000.
	NO
	NO – (because it is below the reasonable allowance limits)


ACTIVITY 3 – BACK PAYMENTS

An employee receives a back payment of $2,100 that relates to three pay periods in June 2006 period. The back payment relates to wages accrued less than 12 months before the date of payment. Calculate the amount of PAYG that should be withheld.  The employee normally earns $1,300 per week and claims the tax free threshold from this employer.

	ATO METHOD STATEMENT
	CALCULATION

	Step 1.

Use the relevant tax table to work out the amount to withhold on the payee’s normal earnings for the current pay period.

	$1,300 per week normal earnings
Tax on $1,300 = $321

	Step 2.

Divide the back payment by the number of normal pay periods over which the amount has accrued.

	Back payment of $2,100 accrued over 3 pay periods.
$2,100 ( 3 = $700

	Step 3.

Disregard any cents, work with whole dollars only and always round down.

	Round $700 down to the nearest whole dollar.
= $700.00

	Step 4.

Add the amount at step 3 to the normal earnings in the current pay period.

	= $1,300 + $700 = $2,000

	Step 5.

Use the same tax table as in step 1 to determine the amount to withhold on the combined payment at step 4.

	Tax on $2,000 = $597.00


	Step 6.

Subtract the amount worked out in step 1 from the amount worked out at step 5.

	$597 - $321 = $276


	Step 7.

Multiply the result by the number of normal pay periods over which the amount accrued to obtain the total amount to withhold from the back payment.

	$276 x 3 = $828

Total tax withheld from $3,400

= $828 + $321 = $1,149


ACTIVITY 4 – COMPLETION OF AN ACTIVITY STATEMENT

The following amounts have been paid during the BAS period.

· Salary and Wages of $50,000

· Tax withheld on above salary and wages of $12,000

· An allowance of $500

· No tax withheld on the allowance

· Commission paid to a contractor of $500

· The contractor did not provide an ABN so tax at 46.5% was withheld of $232.50.

· Eligible Termination Payments of $3,000

Please calculate the amounts to be included on the BAS in the following boxes:

	BOX LABEL
	AMOUNT

	W1 – Salary, wages and other payments


	$50,000    Salaries & Wages
     $500    Allowance

  $3,000    ETP

$53,500



	W2 – Amount withheld from payments shown at W1.


	$12,000    PAYG from S & W
         $0    PAYG from Allowances

$12,000

	W4 – Amounts withheld where no ABN quoted.


	$232.50     Payment to Contractor

	W3 – Other amounts withheld.


	NIL

	W5 – Total amount withheld (W2+W4+W3)
	$12,000 + $232.50 = $12,232.50


ACTIVITY 5 – COMPLETION OF PAYMENT SUMMARIES

An employee has received the following payments for the full year ended 30 June 2007.

· Salary and Wages $50,000 (gross)

· Tax withheld on the salary & wages $12,500

· Car allowance of $1,220 (which is to be included on the payment summary)

· Union Fees paid of $967.00

· $500 which relates to back payment of salary and wages which have accrued more than 12 months ago.

· $4,000 paid as a tax free bona fide redundancy payment.

Please complete the employee’s PAYG Payment Summary which is included at the back of this section.

Gross Payments - $50,000

Total Tax Withheld - $12,500

Allowances Box - $1,220

Union Fee Box - $967

Lump Sum Payment Box D - $4,000

Lump Sum Payment Box E - $500

ACTIVITY 6 – ENDING EMPLOYMENT

Steve ceased employment with the AMS and the following payments were made on 14th February 2007, these payments were made as termination of employment and as a result of a bona fide redundancy.

· Accrued salary and wages of $1,000 (paid weekly)

· Unused sick leave of $500

· Unused annual leave of $2,000

· Bona fide redundancy payment of $20,000 (note that Steve had been employed for 3 full years commencing on 16 January 2004).

· Steve was born on 1 November 1949 (age 57)

Please complete the following tasks:-

1. Calculate the amount of tax to be withheld from the above payments.

2. Indicate which payment summary form is required to be used for each payment and which box on the form is to be filled out. (i.e. PAYG payment Summary or ETP Payment Summary).

STEP 1: Determine whether ETP

	Payment Category
	ETP? Yes/No
	Payment Amount

	Salary and Wages


	NO
	$1,000

	Unused Sick Leave


	ETP - YES
	$500

	Unused Annual Leave


	NO
	$2,000

	Bona Fide Redundancy Payments:-

· Tax-free amount

· Excess amount


	$16,959

$3,041   -  ETP
	$6,783 plus $3,392 for each year

= $6,783 + (3 x $3,392)

= $16,959

ETP component is the excess over tax free amount (20,000 – 16,959) = $3,041

	Total ETP component amount


	
	$3,041


STEP 2: Determine tax payable on income not ETP

	Payment Category
	Tax payable on income not ETP

	Salary and Wages


	Tax on $1,000 @ marginal rates
= $226

	Unused Annual Leave

As the amount was paid on termination because of a bona fide redundancy it is taxed concessionally at 31.5%

	$2,000 x 31.5% = $630


STEP 3: Determine the tax payable on the ETP components

	Payment Category
	Tax payable on – ETP components

	Unused sick leave

Age 57 is > 55 and was accrued after 1983, therefore low rate threshold

	=$500 x 16.5%

= $82.50

	Bona fide redundancy payments

Excess over tax free threshold amount

	= $3,041 x 16.5%

= $501.77


STEP 4: Summary of Payments

	Income Item
	Income
	Tax

	Salary and Wages

	$1,000
	$226.00

	Unused Sick Leave

	$500
	$82.50

	Unused Annual Leave

	$2,000
	$630.00

	Bona Fide Redundancy

	$20,000
	$501.77

	Total
	$23,500
	$1,440.27


STEP 5: Completion of forms

	Income Item
	Which Payment Summary?
	Which Box?

	Salary and Wages

	PAYG Payment Summary
	Gross Payments

	Unused Sick Leave

	ETP Payment Summary
	POST-JUNE 1983
Untaxed Element

	Unused Annual Leave

	PAYG Payment Summary
	Lump Sum Payment

Box A

	Excess Bona Fide Redundancy

	ETP Payment Summary
	POST-JUNE 1983
Untaxed Element

	Bona Fide Redundancy payment not excess

	PAYG Payment Summary
	Lump Sum Payment
Box D
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